QiD:1-

[n the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

rafatea vy # Ry o fwedt & @ ww RE
(?) & TAT W JA TN TEA A JRAT

2 3 2
4 6 4
5 3 7
14 | 15| ?

Options:

1)22

2)18

3)20

4)24

Correct Answer: 18

Candidate Answer: 18

QD:2-
How many triangles are there in the given figure?

& 7% 3l # e By &2

AN
N




Options:
1)8

2)10

3)12

4)16
Correct Answer: 12

Candidate Answer: 12

QID:3-

A word is represented by only one set of humbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-I are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented firsl by its row and nexl! by its column, for example, ‘M’ can
be represented by 10, 56, elc., and ‘R’ can be represented by 40, 99, etc.
Similarly, you have to identify the set for the word “TONE”.

TP EE had UE AEA-OAE G guien Iar o e feeur & @
el ue # g Tar ¥ faeedl # Bu v @ 3R & ar g
ZRT gt aw ¢, Sk B BT U &Y Mgl 3 ¥ gl B T R
Uy b dEar 0 § 4 ¥ AR Iy & 5 T 91 59 HERE | U IR
B Oed IR O AR g A ToFN Wl gRT g ST @A B
3ETA01 & forw ‘Mt 10, 56, H1TE &R GRRIT S Thal & a7 ‘R’ a1 40,
99, 3ME BRI GART & FHal &1 R e d WP WA 3 1GU ;Wa
“TONE* & T Wwg @ geaEar &

Matrix-l Matrix-ll

Il 3Tg-ll
011]12|3]|4 5|6|7]|8|9
C|ICIE|G|I|K S5|K|M|F|H|Z
1fMo[Q|S|U 6|1 [B|O]J|K
2IWIY[A|D|B T(G|QIA|L |V
J|H|IJ|L|IN[P BIE|H|IY|N|T
4 | R|IT|V|X|Z 9|CIU[W|P|R

Options:
1) 89,11, 88,85

2) M1, 67,87,01

3) 41,11, 34,85

4) 89, 67, 33, 00

Correct Answer: 89, 11, 88, 85

Candidate Answer: 41, 11, 34, 85



QiD:4-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

&1 7€ 3R Apiad F ¥ 3@ I Hgla # gav
ora # vy sl BAfea &

N

Options:

1

N

2)

3)

4

Correct Answer:

AN

Candidate Answer:

AN




QID:5-

Which answer figure will complete the pattern in the
question figure?

@i O 39T Apla W Apd & uideg & g
HLfr?

A

N

Options:

Z

N
~

\J A A

Correct Answer:

P

Candidate Answer:

7




QID:6-

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy U 0T @ AB Y@T WY T AT, ar A S
Ta¥ pfadar # @ wia O pla wy el &
TE uiafesa aefi?

&

Options:
1)

2

€ @

3

~

4

FIISE

Correct Answer:

&

Candidate Answer:

o




QD:7-
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

der & wy amgpfadr # R gEr e @t
AIZRT Bad JdUT Wil & dIg 9% FT 3o e
S femrg geme

.--&.-- oy m

Options:
1)
<&
2)
<o
<&
3)
O
4)
OO
Correct Answer:
<&

Candidate Answer:

OO




QID : 8- If ‘' means +, '+’ means ', +' means ‘-’ and 'x’ means ‘+, then
49-7%x63+2=?

e '~ o1 3ref ', + T 3ref ', ' T 37 '~ 2T ‘X’ BT 3ref '+ B, &l
49-7%x63+2=?

Options:

1) 65

2)78

3)76

4)68

Correct Answer: 68

Candidate Answer: 68

QID:9-1f4x3x2x6=6234and6x3x1x2=2136,then9x4x7x1="?
AT 4x3x2x6=6234TAT6x3x1x2=21362,AT9Ix4x7x1=2

Options:
1) 1479

2)9174

3) 1749

4) 9471

Correct Answer: 1749

Candidate Answer: 1479

QID : 10 - Arrange the given words in the sequence in which they occur in the dictionary.
1.Ringer

2. Restore

3.Range

4.Rapid

5.Reptile

FreferRad wreg] St FTeqepter H 371 dTel 3T 5 TR fered|

1.Ringer

2. Restore

3.Range

4.Rapid
5.Reptile

Options:
1) 34521
2) 43521

3) 34251

4) 43251

Correct Answer: 34521

Candidate Answer: 43521



QID : 11 - In the following question,select the missing number from the given alternatives.
3,6,9,15,24,39,?

FreferRaa wer # &g 71y el # 4 g 3is Wi HIQI

3,6,9,15,24,39,?

Options:
1)57

2) 56

3) 58

4) 63

Correct Answer: 63

Candidate Answer: 58

QID : 12 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
B,BE M,H,JKG,?7?
T 3TopH T 1 B, Fored 3 vep ug i &1 iy 719 Rrepent § & a5 w8 Rresew gAY, St 319560 1 RT %1

B,REM,H,J,KG,??

Options:
1)0,B

2)N,D

3)L,C

4)N,B

Correct Answer: N, D

Candidate Answer: N, D

QID : 13 - In the following question, select the odd word from the given alternatives.

freferRaa war # Ay 71y forepedl 3§ & forew vreg &1 g

Options:
1) Bottle
el

2) Liquid
GG

3) Vessel
T

4) Cup
Ea)
Correct Answer: Liquid
el

Candidate Answer: Vessel

T

QID : 14 - In the following question, select the odd number pair from the given alternatives.

freferRaa wer # Ay 71y frepedl § & = FH S ghg



Options:
1)43 - 52

2)67 - 76

3) 89 - 96

4)35-44

Correct Answer: 89 — 96

Candidate Answer: 43 — 52

QID : 15 - In the following question, select the odd letters from the given alternatives.

TereTierRaa wer % fag 7y ferehen & & foree a18Ri <61 gfg

Options:
1) DE

2) XW

3) ON

4) HG

Correct Answer: DE

Candidate Answer: DE

QID : 16 - Identify the diagram that best represents the relationship among the given classes.

Country, State, District

g 3N Y S T 1T 710 1T 3 < 3 Heler ST |1 fR=uor a1 31
&, o, e



Options:
1)

2)

3)

3
@

Correct Answer:

Candidate Answer:

QID : 17 - In the following question, select the related word from the given alternatives.
Factory : Production : : Hospital : 2
TrferRaa wer ¥ g T forpedl § 3 WafRIa 915 H1 gg1

PRI : S : @ 3RYdIe : ?
Options:

1) Doctor

fafrcas

2) Nurse

Bkl

3) Treatment

SUER

4) Building

ARG

Correct Answer: Treatment
SHER

Candidate Answer: Treatment
SUER

QID : 18 - In the following question, select the related number from the given alternatives.
145:10::243:?

freferRaa wer # fay w1y frepedl F & Weiftra @& 61 gig|



Options:
NN

2)9

3)13

47

Correct Answer: 9

Candidate Answer: 9

QID : 19 - In the following question, select the related letters from the given alternatives.

BP:ES::NT:?

TrefeRad wyr  f&g 1Y fereped] # & HeIfera 3181 6 gl

BP:ES::NT:?

Options:
1) PU

2) QW

3 Qv

4) PX

Correct Answer: QW

Candidate Answer: QW

QID : 20 - In the following question, select the word which cannot be formed using the letters of the given word.

PITCHINGS
freaferRRad ferspedl ¥ 3 a5 v1eq AT S Y 7Y 91eg & 311 &1 YART I TET -1 ol FehalT|

PITCHINGS

Options:
1) SIP

2) CHIT

3) HINGS

4) HANGS

Correct Answer: HANGS

Candidate Answer: HANGS

QID : 21 - Weight of A is twice that of B. Weight of B is half of C. Weight of C is 3 times of E. Weight of E is half of D. Who is the heaviest?

AR BHI S TATEI B BT HR C FT AT E! C HIUR EHT 3 TATE E HT R D I MM E | [T W I 22



Options:
HA

2)C
3)D

4)AorC
A 3Er C

Correct Answer: A or C
A3rqar C

Candidate Answer: C

QID : 22 - The ratio of present ages of Sumit and Vikram is 4 : 3. After 5 years age of Sumit will be 25 years. What is the present age (in years) of Vikram?

I 72T foRhw S IeWTT 31 &1 SIUIT 4 : 3 31 5 99 wTa Gia $1 31 25 a9 gFiT1 fashw Sl g 31 (asT #) =1 32

Options:
1) 20

2)15

3)10

412

Correct Answer: 15

Candidate Answer: 15

QID : 23 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to be
at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I All cups are chairs.
1. No chair is table.

Conclusions:
I. Some cups are not tables.
Il. Some chairs are cups.

i 0 TG sy ¥ g I 3R e 1 I AT W SRR F8 e fag 719 &, Bietifer ST A= Sra a2t 3 fir=1ar 8 |eed) §1 it frepd o oii R FrerfRa & for iy a1y
B & sy, fag 77 F2FT & SR W FfiedTa &

AT
1. Tt S RIAT 1
11. <hYS it AT TE B

e
|. & Y A TET &
Il. $8 FRIATFTEI

Options:

1) Only conclusion (1) follows.

e Ry (1) T8 81

2) Only conclusion (1I) follows.

Feer Frem (1) TE B

3) Both conclusion follow.

a1 & e W gl

4) Neither conclusion (l) nor conclusion (11} follows.
T Rrsnd (1) 7 & Frsnd (11) TE 31

Correct Answer: Both conclusion follow.

g1 & frsy wa El

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.
ot frep (1) 78 e (1) wé 8



QID : 24 - In a certain code language, "LIGHT"is written as"KHFGS". How is "SOUND" written in that code language?

U T3S g wNT A, "LIGHT" %I "KHFGS" for&r SITaT 3 | 39 I HTHT § "SOUND" &Y fors WepR ferar imgmr?

Options:
1) RNTMC

2) RNTMD

3) RNSMC

4) RMTNC
Correct Answer: RNTMC

Candidate Answer: RNTMD

QID : 25 - In a certain code language, "RAM" is written as "160" and "SUN" is written as "270". How is "BUS" written in that code language?

TS RIS @le wNT o, "RAM” 1 "160" T2IT "SUN" T "270" forar AT 31 39 I8 {NT H "BUS" &I forey eI foram Smgem?

Options:
1) 210

2) 190

3)720

4) 1260
Correct Answer: 210

Candidate Answer: 210

QID : 26 - How many positive factors of 24 are there?

24 % T3e eFTCHS UGS B 22
Options:

1)6

2)7

3)8

4)12

Correct Answer: 8

Candidate Answer: 6

QID : 27 - What is the value of [(1.7)% = (1.2)3] / [(1.7)2+ (1.7x 1.2) + (1.2)]] ?

[(1.73 = (1.23/[0.72+(1.7x1.2) + (1.2 B AR FATE?
Options:

1)0.5

2)29

3)1.9

4)0.7

Correct Answer: 0.5

Candidate Answer: 0.7



QID: 28 -

What is the value of+f7 + 4.3 ?

J7 + 43 F AT T &2

Options:
1)2-v3

2)2+v3
3)3+v3

4)3-v3
Correct Answer: 2 +v3
Candidate Answer: 3 + V3

QID : 29 - A number when divided by 72 leaves remainder 10. What will be the remainder when the same number is divided by 9?

U T 1 O 72 | T {31 STt B, @Y 9%t 10 S9aT &1 ST ST 6T 6 9 3 quia=r: frvifora faam iy, Jt ket 2 grm?
Options:

Correct Answer: 1
Candidate Answer: 1

QID : 30 - Which of the given value is exactly divisible by 30?

QG 17 A % i 30 I goiaar: farvmford &2

Options:
1) 2530

2) 1570
3) 2370

4) 1520
Correct Answer: 2370
Candidate Answer: 2370

QID : 31 - How many numbers are there between 200 to 300 which are perfect cubes?

200 ¥ 300 & i foha=t HEATY & ST §eb JUT & &2

Options:

N1

2)2

3)3

44

Correct Answer: 1
Candidate Answer: 3

QID : 32 - A and B together complete a work in 20 days. B alone can complete the same work in 60 days. They took Rs 36000 to complete the work. What will be the
share of A (in Rs)?

A TR B fers fopvT SRf &6t 20 &1 3 QT SRt €1 B 3Tehell S99 1 &I 60 TeT 3 URT &< ehal &1 3781 36000 T 3 I FH1i I feraml A &1 iz (3 ) e grm?

Options:
1) 18000
2) 24000
3) 26000
4) 22000

Correct Answer: 24000
Candidate Answer: 24000

QID :33- P, Q and R can complete a work in 20, 15 and 25 days respectively. P, Q and R together took Rs 9600 to complete the same work. What will be the share of
Q (inRs)?

P, Q @17 R ot SRT &1 6W9T: 20, 15 TR 25 fei # QRTH Wevd &1 P, Q @17 R 7 it 9600 % # 39 HRY 1 gx1 621 Q 7 3% (3 #) fopa=m grm?

Options:
1) 4000
2) 3600
3) 3700
4) 3000

Correct Answer: 4000



QID : 34 - The diagonals of a rhombus are 32 cm and 60 cm. What is the perimeter of the rhombus?

U AHaqYoT < feot 32 .. T 60 J.H. &1 AHAGYST ST URATT 3207 82
Options:

1) 68

2) 132

3)136

4) 236

Correct Answer: 136
Candidate Answer: 136

QID : 35 - Three successive discounts of 20%, 30% and 20% are given, what will be the net discount (in percentage)?

20%, 30% AT 20% BT A ¥ Fe &1 <Iweil 31 Feret ge (dierera #) @ gnie

Options:
1) 43.76

2) 55.2
3) 70

4) 83.2
Correct Answer: 55.2
Candidate Answer: 55.2

QID : 36 - Marked price of an article is 50% more than its cost price. If a discount of 10% is given, then what will be the profit percentage?

b aI%g i b e S¥<h 6 Ted H 50% TAIRT &1 AT 10% <l B &1 1Y, 61 oITH =T Hicrerd il g
Options:

1)35

2) 40

3)45

4) 30

Correct Answer: 35

Candidate Answer: 35

QID : 37 - The ratio of monthly income of x and y is 3 : 5 and the ratio of their expenditures is 1: 2. If each saves Rs 5000 per month, then what will be the monthly
income of x?

X AT y <l W1 TRT 61 3IUTd 3 : 5 3 a1 S I 319 1 : 2 31 Il Yeds 5000 % UfAHIE ST s=d FHdT 3, dl x 1 71y 3 =1 gril?

Options:
1) 25000
2) 20000
3) 18000
4) 15000

Correct Answer: 15000
Candidate Answer: 18000

QID : 38 - The ratio of four numbers A, B, C and D is 3:7: 8 : 11 respectively. The sum of B and C is 25 more the sum of A and D. What is the value of (A + D)?

IR HEAT3T A, B, C TAT D FT UM HA: 3:7:8: 11 §1 B TAT C T IAFT A TAT D F AT 25 ST &1 (A + D) T A &A1 32

Options:
1) 350
2) 375
3) 250
4) 325

Correct Answer: 350
Candidate Answer: 250

QID : 39 - What is the average of first 12 natural numbers?

gt 12 WTehforh Ae1ait T Siad 9T &7

Options:
1)5.5

2)6
3)6.5

47
Correct Answer: 6.5
Candidate Answer: 6.5



QID : 40 - If selling price is Rs 100 more than the cost price and profit is 20%, then what is the cost price?

fe o e 3 e ;¥ 100 3 311 § @7 a1 20% B, aY 353 ool 90T 872

Options:
1) 600
2) 1000
3) 800
4) 500

Correct Answer: 500
Candidate Answer: 800

QID : 41 - If selling price is Rs 840 and profit is 5%, then what is the cost price?

e R T 840 T & TATATT 5% &, AV o6 T T 372

Options:
1) 750

2) 800
3)810

4) 900
Correct Answer: 800
Candidate Answer: 900

QID : 42 - If 20% of A = 30% of B, then B is how much percent less than A?

IfE A H120% = B 6T 30%, @l B, A A fopaT Uferera 7 8?2

Options:
1) 20

2) 25
3)33.33

4)125
Correct Answer: 33.33
Candidate Answer: 33.33

QID : 43 - If A is 20% more than B and C is 20% less than B, then C is how much percent less than A?

gfe A, B ¥ 20% 3RH & q2AT C, B ¥ 20% F9 3, 91 C, A I T ufasra 9 32
Options:

1) 40

2) 44

3)33.33

4) 50
Correct Answer: 40
Candidate Answer: 40

QID : 44 - A train 150 metres long is running at a speed of 15 metre per second. In how much time (in seconds) it will cross a bridge of 300 metre long?

U 150 Hie il WISt 15 WieX ufer §e6vs Hi 71fer I Fetad g 300 Wex o Tehif Hl IR S = wwr (J&s1 #) ol

Options:

1)10

2)15

3)30

4) 45

Correct Answer: 30
Candidate Answer: 30

QID : 45 - A boat travels 16 km upstream in 4 hours and 12 km downstream in 6 hours. What is the speed (in km/hr) of boat in still water?

U AT &RT 6 319%et 16 T6.M. Tl 4 69 ¥ a2 el & a1 a1 & uicrgger 7 12 T, g8 6 69 a2 et §1 9iet Sfet & 17y &t 7nfer (fop 0. /€feT #) Fm 82

Options:
H1

2)2
3)3

4)4
Correct Answer: 3

AN a A A



QID : 46 - A sum of Rs 5000 is invested at a scheme of compound interest. The interest rate is 20%. If the interest is compounded half yearly, then what is interest (in
Rs) after 1 year?

5000 % i T R I Tehdlg SAToT bl ANST # 9T R TT1 197 X 20% &1 TS SIS T HITO ST al, a1 U I d1g 2011 (3 ) fpan grme?

Options:
1) 1000

2) 2200
3) 1500

4) 1050
Correct Answer: 1050
Candidate Answer: 1050

QID: 47-
The table given below shows the selling price (in Rs/kg)
of 4 different items at 5 different shops.

e & o atforem # 5 g W 4 RfdeT avgat &
TR Ao (wip.am. &) & g @ §

Selling Price (in Rs/kg)
e Iz (fRam. )
item | Shop1 | Shop2 | Shop3|Shop4 | Shop5

qE ?ﬂﬁ"[ ?’TIFI’Z ?‘TIHS E.'BEFIFI'4 %EFIH5
A
B
c

10 12 14 11 13
21 20 22 21 21
18 12 14 15 17
D 20 20 19 19 20

If a customer purchases 2 kg quantity of each item from Shop 2, then what is the total selling price (in Rs)?

T B b GBI 2 W YA I Y 2 6.1, WHT @hNear &, 3 Pel R T (3 1) Far3?

Options:
1) 128

2) 164
3) 140

4)132
Correct Answer: 128
Candidate Answer: 128



QID : 48 -

The table given below shows the selling price (in Rs/kg)
of 4 different items at 5 different shops.

drr & o fore 7 5 gl W 4 Rfvew awgat &
Tera oo (sfF.on. &) & At m

Selling Price (in Rs/kg)
farar e (@, )
item | Shop 1| Shop 2| Shop 3 | Shop4 | Shop 5
d&] | bl 1| bl 2 | gebled 3 | geblet 4 | gebled 5
A 10 12 14 11 13
B 21 20 22 21 21
C 18 12 14 15 17
D 20 20 19 19 20

If a customer purchases 3 kg quantity of item A from each shop, then what is the total selling price (in Rs)?

e v IMgh avg A B 3 .31, 711 9 g A Thigar 3, @ $e fase ge (3 ) w2

Options:
1) 140

2) 120
3) 180

4) 160
Correct Answer: 180
Candidate Answer: 180

QID: 49-

The table given below shows the selling price (in Rs/kg)
of 4 different items at 5 different shops.

A & o oo # 5 g W 4 fafdee awgel &
foera e (@i an. #) # e R ¥

Selling Price (in Rs/kg)
T aea (@fman. #)
item | Shop1| Shop 2| Shop3 | Shop4 | Shop 5
d&] |G 1| Ghld 2 | gohldd 3 | Ghldd 4 | gabled 3
A 10 12 14 11 13
B 21 20 22 21 21
cC 18 12 14 15 17
D 20 20 19 19 20

What is the average selling price (in Rs/kg) of item C?

] C 1 AT forspal Yo (3/16.31. #) 9 &2

Options:
1)16.8

2)15.2
3)146

4)13.8
Correct Answer: 15.2
Candidate Answer: 15.2



QD : 50-
The table given below shows the selling price (in Rs/kg)
of 4 different items at 5 different shops.

drr & o fore 7 5 gl W 4 Rfvew awgat &
Tera oo (sfF.on. &) & At m

Selling Price (in Rs/kg)
e aew (wfer.am. 3f)
item | Shop 1| Shop 2| Shop 3 | Shop4 | Shop 5

d¥&g W’[ Wz %ﬂﬂﬁ?) giﬁl?[4 ?FIFT5
A 10 12 14 11 13
B 21 20 22 21 21
C 18 12 14 15 17
D 20 20 19 19 20

If one kg of each item is purchased from each shop, then which shop will have the least total selling price?

AT g a3 T U 6.1, U qhM A GG TG, A I G GBI T Fel [T Yool eI HH aF1M?
Options:

1) Shop 1

qh 1

2) Shop 4

qPM 4

3) Shop 2

qPM 2

4) None of these
AP TE

Correct Answer: Shop 2
b 2

Candidate Answer: Shop 4
qPH 4

QID : 51 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

It comes with (1)/ her own challenges (2)/ for a person. (3)/ No Error (4)/
Options:

H1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: 4

QID : 52 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If
a sentence is free from error, select 'No Error'.

Need no worry, (1)/ these tips will help (2)/ you to optimize your work. (3)/ No Error (4)/
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 2

QID : 53 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

Rohan preferred baseball any other sport.

Options:
1) to

2) than
3)on

4) against

Careant Ancwrar: tn



Candidate Answer: on

QID : 54 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option.

I have lived in Gujarat :

Options:
1) since seven year

2) seven years ago
3) for seven years ago

4) for seven years
Correct Answer: for seven years
Candidate Answer: since seven year

QID : 55 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Index

Options:
1) Disorder

2) Neglect
3) Dismiss

4) Guide
Correct Answer: Guide
Candidate Answer: Neglect

QID : 56 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Amend

Options:
1) Impair

2) Alter
3) Reduce

4) Worsen
Correct Answer: Alter
Candidate Answer: Reduce

QID : 57 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Testify

Options:
1) Announce

2) Deny
3) Veto

4) Negate
Correct Answer: Announce
Candidate Answer: Deny

QID : 58 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Nobel

Options:
1) Wellborn

2) Gentle
3) Servile

4) Kingly
Correct Answer: Servile
Candidate Answer: [ NOT ANSWERED ]

QID : 59 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Applause



Options:

1) Acclaim

2) Cheers

3) Criticism

4) Praise

Correct Answer: Criticism

Candidate Answer: Criticism

QID : 60 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Candid

Options:
1) Fair

2) Deceitful
3) Genuine

4) Sincere
Correct Answer: Deceitful
Candidate Answer: Genuine

QID : 61 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Over head and ears

Options:

1) Nearer

2) Completely
3) Alert

4) Obsolete

Correct Answer: Completely
Candidate Answer: Obsolete

QID : 62 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

On one’s guard

Options:
1) About to fall

2) To be careful
3) To be not in proper order

4) Cause of somebody
Correct Answer: To be careful
Candidate Answer: Cause of somebody

QID : 63 - Improve the bracketed part of the sentence.

My boss suggested (me to take a) off.

Options:
1) that | should take a

2) that | should take an
3) me taking a

4) Not improvement
Correct Answer: that | should take an
Candidate Answer: me taking a

QID : 64 - Improve the bracketed part of the sentence.

He complained of (having harassed) by the court of law.

Options:
1) harassed

2) been harassed
3) having been harassed

4) Not improvement
Correct Answer: having been harassed
Candidate Answer: having been harassed

QID : 65 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Reduction in tax or debt



Options:
1) Rebate

2) Estimate
3) Preface

4) Ransom
Correct Answer: Rebate
Candidate Answer: Estimate

QID : 66 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Resulting in death or ending in disaster

Options:
1) Dessert

2) Erratic
3) Fatal

4) Epicure
Correct Answer: Fatal
Candidate Answer: [ NOT ANSWERED ]

QID : 67 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Innocent

2) Inocennt

3) Innocant

4) Ennocant
Correct Answer: Innocent
Candidate Answer: Innocant

QID : 68 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Leneint

2) Linient

3) Lenient

4) Lenent
Correct Answer: Lenient
Candidate Answer: Leneint

QID : 69 - Rearrange the parts of the sentence in correct order.
The moment a
P: new word is coined

Q: it enters the
R: the spoken language

Options:
1) PQR

2) QRP
3) QPR

4) RPQ
Correct Answer: PQR
Candidate Answer: QPR

QID : 70 - Rearrange the parts of the sentence in correct order.
Venice is
P: the north of Italy

Q: beautiful city in
R: a strange and

Options:
1) QRP

2) RQP

3) QPR



Correct Answer: RQP
Candidate Answer: PRQ

QID : 71 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be
mother language is very important. It a feeling of love and respect for his mother language. A person would be
unable to read book written in his mother language.

through the mother tongue and through English language aswell. ____in one's
of his own cultural richness if he is

Weneedtocreatea _______ system
Options:

1) turbulence

2) heavy

3) strict

4) balanced

Correct Answer: balanced

Candidate Answer: balanced

QID : 72 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be through the mother tongue and through English language aswell. ______in one's
mother language is very important. It a feeling of love and respect for his mother language. A person would be of his own cultural richness if he is
unable to read book written in his mother language.

through the mother tongue

Options:
1) imparted

2) taught
3) Bought

4) brought
Correct Answer: imparted
Candidate Answer: brought

QID : 73 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be
mother language is very important. It a feeling of love and respect for his mother language. A person would be
unable to read book written in his mother language.

through the mother tongue and through English language as well. _______in one’s
of his own cultural richness if he is

in one’s mother language is very

Options:

1) Thinking

2) Dancing

3) Studying

4) Listening

Correct Answer: Studying
Candidate Answer: Listening

QID : 74 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be
mother language is very important. It a feeling of love and respect for his mother language. A person would be
unable to read book written in his mother language.

through the mother tongue and through English language as well. inone's
of his own cultural richness if he is

It a feeling of love and

Options:
1) originates

2) develops
3) Create

4) exploits
Correct Answer: develops
Candidate Answer: Create



QID : 75 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives.

We need to create a system of education. Education should be through the mother tongue and through English language as well. _______in one's
mother language is very important. It a feeling of love and respect for his mother language. A person would be of his own cultural richness if he is
unable to read book written in his mother language.

A person would be of his own cultural

Options:
1) devoid

2) employed
3) avoid

4) ignored
Correct Answer: devoid
Candidate Answer: avoid

QID : 76 - Banking comes under which sector of economic growth?

¥ep Jamy anfRies TR 3 fFwr & ¥ oferia smii 22
Options:

1) Primary sector

T 85

2) Secondary sector

Teeiiars gmreh

3) Tertiary sector

A1 &

4) Quaternary sector

TR G

Correct Answer: Tertiary sector

el g

Candidate Answer: Quaternary sector

AT &P

QID : 77 - Which of the following economic activities comes under primary sector?

. Fishing
Il. Dairy
lll. Agriculture

FreaferRaa % I $7 I anfie warfyfrT grerfies &y % sieid S 22

| T
.39

. sy
Options:

1) Only |
e |

2) Only Il
Faet Il

3) I, 1land NI
IR
4) Both 1 &Il
| T |1 3%
Correct Answer: |, |l and Ill
I, At 1l

Candidate Answer: |, Il and IlI
I, [l

QID : 78 - In which of the following legislation can be initiated?

FrferRaa ¥ ¥ gt S ST 5l TR G97 foh2IT T Hebell 37
Options:

1) Only Lok Sabha

elel elieh Tl

2) Only Rajya Sabha

el o JHT

3) Both Lok Sabha and Rajya Sabha

iR T T S T At

4) Neither Lok Sabha nor Rajya Sabha

T A1 @l WHI T & I g1

Correct Answer: Both Lok Sabha and Rajya Sabha
AV T AT IS AT 21

Candidate Answer: Only Lok Sabha



QID : 79 - According to which fundamental right 'human trafficking' is prohibited?

Topvt wiifereh SMferepR o aad " AR Frijer 32
Options:

1) Right to Equality

AT T AfHR

2) Right against Exploitation
YT & g e R

3) Right to Constitution remedies
QeI IUER T ARIBR

4) Cultural and Educational Rights

AP R Herfr sfER

Correct Answer: Right against Exploitation

Yo7 & g SR

Candidate Answer: Cultural and Educational Rights

AiRplareh 3R HefoT TR

QID : 80 - Who gave the slogan 'Do or Die'?

R AT ARV =BT TRT v i om?
Options:

1) Bhagat Singh

wa R

2) Subhash Chandra Bose
I | ST

3) Jawahar Lal Nehru

SIETER ellel A8

4) Mahatma Gandhi

HEICHT TITef

Correct Answer: Mahatma Gandhi
HEICHT e

Candidate Answer: Jawahar Lal Nehru
SETER ellel 6%

QID : 81 - Who was the first Mughal Emperor in india?

WRA § 2T el IR I AT?
Options:

1) Babur

EICES

2) Balban

EECE)

3) Umar Shaikh

I IE

4) Humanyun

F

Correct Answer: Babur
BICES

Candidate Answer: Babur
qrex

QID : 82 - What is the approximate distance (in million km) of the Sun from the Earth?

2 BT gt T o (Riferar o w1, ) ol &2

Options:
1) 150

2) 98
3)128

4) 180
Correct Answer: 150
Candidate Answer: 98

QID : 83 - Which is the largest continent by area of Earth?

el 3 MR TR Y21 T Ha 3T TETEIT B 6T 22



Options:

1) Australia
sireeferam

2) Asia

B

3) North America
I TR

4) Africa

STURIHT

Correct Answer: Asia
TRRrET

Candidate Answer: Asia

o

QID : 84 - Roots absorb water and ____ from the soil.

TS Eé A et q2r T STTINYOT FICAT 5?2
Options:

1) Minerals

@

2) Proteins

o

3) Carbohydrate

4) Fat

gt

Correct Answer: Minerals

EcIE ]

Candidate Answer: Minerals

@St

QID : 85 - Which body part of fishes helps them to change directions and keep their body balance in water?

TRfer & IR I B AT WA I3 oiel P 3iex feam IRad= v ger a1y T H W@l X 57
Options:

1) Fins and tails

I T iy

2) Fins and scale

U AT I[ch

3) Tails and scale

Yeg 20T IIeh

4) Gills and fins

Rrer Tem g

Correct Answer: Fins and tails

I T Uy

Candidate Answer: Tails and scale
g AT Tesh

QID : 86 - Which disease is caused by deficiency of vitamin C?

TereTforT 31 %Y ¥ & HROT HI Gl RT3 32
Options:

1) Pellagra

Yerrm

2) Anemia

TR

3) Scurvy

el

4) Night blindness

el

Correct Answer: Scurvy

EEGi]

Candidate Answer: Scurvy

51

QID : 87 - Which mirror has a very wide field of view?

T T Uk SIS &1 3T qUOT & Sracifehd BT 8?7



Options:

1) Concave

Siclddel

2) Convex

3del

3) Plane

el

4) None of these

ST A PIS TET

Correct Answer: Convex
3del

Candidate Answer: Plane
NTHdT

QID : 88 - What is the unit of conductance?

YaATghTId T 5HIE FAT 82
Options:

1) ohm™!

3!

2) ohmmeter

e

3) rho

x

4) ampere

TR

Correct Answer: rho

K

candidate Answer: ohm™!

!
QID : 89 - In computers the data is stored in which forms?

HER ¥ ST 34 0 AL BT 82
Options:
1) Octal

STcel

2) Hexadecimal
TS

3) Binary
CIESE]

4) Decimal

S
Correct Answer: Binary
T

Candidate Answer: Hexadecimal

EERISIEG

QID : 90 - Which is the most abundant metal in the earth's crust?

g} &1 e § e U= HHAT ¥ €7q I A1 32

Options:
1) Iron

GG

2) Silver

Eici}

3) Aluminium

Yot

4) Copper

afar

Correct Answer: Aluminium
vty

Candidate Answer: Aluminium

Segfafem

QID : 91 - Which metal melts in the palm?

I T a1 Bett W fUreer ST 87



Options:

1) Potassium
R

2) Sodium
|ifsaT

3) Magnesium

4) Aluminium
T
Correct Answer: Sodium

wifsTH

Candidate Answer: Potassium

TReRRM

QID : 92 - Nitrates, Phosphates, metals are examples of which type of impurities in sewage?

I3, B, SITqY SN aTige Wel ¥ 63T Wb 1 T 3 Iareor &?
Options:

1) Organic

FEfs

2) Inorganic

3) Nutrients

I aT

4) None of these
SWRIE § A B TET

Correct Answer: Inorganic

3PETH

Candidate Answer: Organic

S

QID : 93 - What is Pradhan Mantri Jeevan Jyoti Bima Yojana?

YRITTHAY STtaeT S2er ST Ao =11 82
Options:

1) A health insurance scheme

U R ST HoHT

2) A financial inclusion scheme

U farRfr quTaer AT

3) Alife insurance scheme

U SilaT ST AT

4) A accident insurance scheme

b T 19T T

Correct Answer: A life insurance scheme

TS Siie ST AT

Candidate Answer: A financial inclusion scheme

Ueh fofiaT HTerer Aor

QID : 94 - Who among the following invented Electric Motor?

=T % o5 setferees Hiex o1 SifashRR fpam?
Options:
1) Euclid

Ifkets

2) Sir Chandrasekhara Venkata Raman
IR TGIER AheT

3) Michael Faraday

HIgehel TRTS

4) John Dalton

VI SleeT

Correct Answer: Michael Faraday
TSPl TS

Candidate Answer: Euclid

qfreTs

QID : 95 - Who won the 2017 Men's Single Wimbledon Championship?

2017 To51 HI Yebet fofaee SR fram St ofi?



Options:

1) Roger Federer
IR B

2) Andy Murray
wEW

3) Novak Djokovic
rare B

4) Rafael Nadal
IThel TSI

Correct Answer: Roger Federer
R He®

Candidate Answer: Rafael Nadal

ITthel TSTel

QID : 96 - Hornbill Festival' which is also called 'Festivals of Festivals' is celebrated in which state?

Biifael hikede oY ‘BRI & @R Wl FT €T &, 59 o § 9-1=11 A1 8?2
Options:

1) Bihar

fEr

2) Nagaland

EINIGES

3) Kerala

T

4) Karnataka

FHieH

Correct Answer: Nagaland

ATTAS

Candidate Answer: Nagaland
RS

QID : 97 - Who won the Man Booker International Prize 2017?

2017 AT g S 19el UISol faher oildT 87
Options:

1) David Grossman

ECERIGEE]

2) Arundhati Roy

STl IRT

3) Arvind Adiga

aRfdg anfem

4) Ruskin Bond

NPTl

Correct Answer: David Grossman
EICERIGEE]

Candidate Answer: Ruskin Bond
RFHT s

QID : 98 - Who is the author of the book named ‘Indian Parliamentary Diplomacy'?

STETT Tifeiamicl fSTarTa’ STTes Gaieh & oiRaeh/ clRaehl i 87
Options:

1) Meira Kumar

HRTFIR

2) L.K. Advani

Tel 50T JTSarolt

3) Andy Marino

USIARAT

4) Mamata Banerjee

T Sl

Correct Answer: Meira Kumar
ARTFAR

Candidate Answer: Andy Marino

TEARAT
QID : 99 - What is the name of joint bi-annual military exercise conducted by India and Russia?

R 3R = gRT HaTlerd A fe-arfiies A= STW-IRT &7 1 AT 8?



Options:

1) VAJRA

a9

2) INDRA

EfA

3) CHAKRA

qsb

4) DHANUSH

RRL

Correct Answer: INDRA
L1

Candidate Answer: VAJRA
a9

QID : 100 - What is the economic bedrock of the India-Bhutan relationship?

WRA-YS el 6T SMRIH IR AT &2
Options:
1) Hydro-electric Power Generation
T-fersTed! SeureT
2) Parliamentary Traditions
T TR
3) Fertilizers, Pesticides and Plastics
I, Pl AR wiRes
4) Cement Industries
e e
Correct Answer: Hydro-electric Power Generation
J-fRretell SeureT
Candidate Answer: Parliamentary Traditions

B ———



